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LABJINDu1 standard Iightness7

Yac=Yw nc=100, %
),
y
I* LABaNou1 ZIN(A Lt AL (AarAor)  (¥od100Y<=Y)
P A IR I ion £ Yy
I* 3812219498 8)=498,I* /(90)= 76
i

1
1
1
g :
:* 00=775,82, A=1,0, //5U=0,104.4, ¢=1,00
*1=498,34, A=0,0/,/, A,=0,0p58 o
- ) & licati
|*3F219,17,|*u_4s/>?34 Y=18 ' f‘frf’g'ga lon
V4 =1
xN=0,2 Xw=5

LABJINDul
tristimulus value difference
Yoe=Yw - nc=100,

I* L ABINDuL =IN(A 17+ A2RY)/(A2nAon)  (Yd/100<Y<=Yoo)
I* L ABINDuL =IN(A 17+ A2) (A2 Aon) - (X=YTYy)
dY:Aon(A 1n+A2nY):A0n(A1n+A2UX) XZY/Yu
Aonpss=L5, Aona=1,0, see CIE 230:2019

/

¥ 4

I* =498 dY,=0,12 dY,/Y,=0,0067 %
= s
log( =883 =015 Po 0 74y 61,00 = = = m
dY;§=0,12, A0,01Z Z5=0,00§8  application
dYz =002 V=25 0Y=0,12 1 9
. =
xN=0,2 Xw=5

log AY/Y) LABJNDu1
_ tristimulus value sensitivity
SEERY) Yoc=Yw © nc=100

1* LaBanDu1 =IN(A 17t Aon)/(AonAon)  (Ynd/100<Y<=Y,o)
1*LaBanDu1 =IN(A 10+ A2 X) (A Aon) - (X=YTY)
dY/Y=Agn(A1ntA2nY)Y=Agn(A1ntA2X) Y
(dY/Y}g=.0059, Ay=1,0, Ay=0,1044, ¢=1,00
(dY/Y)g=0,0767, A=0,017, A,=0,0058
(dY/Y}6=0,01C5 Y,=18, dY=0,12
log(dY/Y)E=2,17 m=-0,T0= - application
gdY/Y) my 2= oo o
I*,=498 dY,=0,12 dY,/Y,=0,00671
1

ot
xN=0,2 Xw=5

log (Y/AY) LABJINDul
_ tristimulus value contrast
SN Yoc=Yw  nc=100
I* L ABINDUL =IN(A 17+ A2RY)/(A2nAon)  (Ynd/100<Y<=Yno)
I* L ABaNDuL =IN(A 17+ A2) (Ao Aon)  (X=YTYy)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]
(Y/dY}5=166,97, Ay=1,0, Ay, =0,1044, ¢=1,00
(Y/dY)g=148.27, A=0,017, A4,~0,0058

Y/dY), =95,03 Y,=18, dY=0,12
I* u(:493 %%:0,12 Y./dY,=148

application
range

xN=0,2  xw=5

LABJNDu1 relative standard lightnessl*/I* ,
I Yoc=Yw - nc=100,

I L ABINDUL =IN(A 10+ ALY (AorAgn)  (Yad100<Y<=Y, )
1% ABINDUL =IN(A 17 +A2X) (AgAon)  (X=YIY,)
1* N(3,6)=219 % ,(18)=498 I* \,/(90)=776

1% gg/l* =1,55, Apr=1,0, Ap,=0,1044, ¢=1,00

I*1¢/* (=1,00, A,=0,017, A,=0,0058

I* 3 fI* ;=0,43,1%,=498,34 =18 e

I*/I* =1, m;=0,79 v
SRR application
range

XN=0,2 Xw=5

log(AY/AY,) LABJINDu1 relative
AYIAY tristimulus value difference
i YocmYw - nc=100,

1L ABINDUL =IN(A 17+A2Y)/(A2rAon) - (Ynd/100<Y<=Yoo)
1L ABINDU1 =IN(A 10+ A2)(A2uAon)  (X=YTYL)
dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=1,0, Ay=0,1044, ¢=1,00
dY;g/dY,=1,00, A ,=0,017, A;=0,0058
dYs,gdY,=0,31 Y, =18, dY=0,12 ;
-

12,dY,/Y,=0,0067 ./~

XN=0,2 Xw=5
CED10-4A
log [(AY/Y) | (AYIY),] LABJINDu1 relative
tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
11 aBINDUL =IN(A 17+A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)
11 ABINDUL=IN(A 17 +A2X) (A2 Aon)  (X=YTYL)
(dY/YY(AYIV)=[(A 1+ A )X (A 17+AZ0)
(@Y/Y)o(dY7N=0,88, Ay=1,0, Ay, =0,1044, ¢=1,00
(dY/Y)g/(dY/Y)=1.00, A=0.017, £5,=0,0058
@YYy g(dY/YV)=1,24 Y, =18, dY=0,12

log[(dY/YY(dY/Y),]=0, m;=-0,13 Ei .
I*,=498 dY,=0,12 d¥/Y,=0,0067} Zppication
Ix=1
Xn=0,2 Xw=5

CED10-6A
log [(Y/AY) I (YIAY),] LABJINDu1 relative
tistimulus value contrast

GGy =(YIBVIYIAY), e ™S VA 60
1L ABINDUL =IN(A 17+A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)
1L ABINDUL =IN(A 17 +A2X) (A2 Aon)  (X=YTYL)
(YIYY(YIY) =X (At AN (A 15+A2y)
(YIdY Yo/ (Y/dY)=1,12, Ay=1,0, Ap=0,1044, ¢=1,00
(Y/dY)g¢/(Y/dY)=1,00, A ,=0,017, A;=0,0058
(Y/dY} g(Y/dY)=0,64 Y,~18, dY=0,12
log[(Y/dY)(Y/dY)J=0, m,=0,13
I* =498 dY,=0,12 Y,/dY~ 248 ~ 1
r 1 application
' range

%=1
XN=0,2 Xw=5

LABJNDu1 standard lightnesg/,
Yoc=L*w - nc=100, 4
7 4
A
L* =In(A 1 +A0 ) (AgnAan) /(Yad100<Y<=Y,)
LABJ 1
LI a6y
LA(F6R10749818)=498 L* 1 (90)E776
o

1
1
1
/i :
L*g(=775,82, /ﬁn=1,o,,;42u=o,1o44, ¢=1,00
L*15=498,34, A=0,0 7, A,=0,§058 - = -
- 5 r licati
L* 3_(,_219,17,|_*u_z/1§;;,34 Y=18 ' f‘frf’g'ga lon
Vi =1
XxN=0,2 Xw=5

CED11-1A

logAY) LABJNDu1
AY tristimulus value difference
Yo=L*w  ne=100,

L* LaBaNDu1=IN(A 15+A2nY)/(A2rAcn)  (Ynd/100<Y<=Y,,0)
L* | aBanDur =IN(A 10+ A2/ (A2iAon)  (X=YTYy)
dY=Agn(A17+A20Y)=Agn(A1ntAsX)  X=YTY,
Aon,pes=1,5, Ao a=1,0, see CIE 230:2019
]
// 2
L*=498 dY,=0,12 d¥,/Y,=0,0067, *-
= 7
oo =818 M= py =0 <44} ¢=1,00- — = = =
dY;g=0,12, A;;70,017 75:=0,0098 ?g)r?hgauon
dY36=0,03 Y,~Zo 0Y=0,12 I)h—l g

XN=0,2
CED11-3A
log (AY/Y) LABJNDu1
_ tristimulus value sensitivity
SEERY) Yocml*w © nc=l
L*Laganpur =IN(A1ntA2nY)/(A2nAon) - (Yac/100<Y<=Yyo)
L*Laganpur =IN(A 1t A2 X)/(A2iAon)  (X=YTYy)
AYIY=Aon(A1+AgnY)Y=Aon(A1+AaX)Y
(dY/Y}=0,0059, A=1,0, Ay=0,1044, ¢=1,00
(dY/Y)=0,C967, A=0,017, A4,=0,0058
(dY/Y) ¢=0,01C5 Y, =18, dY=0,12
log(dY/Y)E=2,17, m==0,15.5 ~ application
og(dY/Y)= m, == 1 ige
L* =498 dY,=0,12 dY,/Y,=0,0067
1

ot
XN=0,2 Xw=5

CED11-5A

log (Y/AY) LABJINDul
- tristimulus value contrast
SN Yoe=L*w -~ nc=100
L*Laganpur =IN(A1n+A2nY)/(A2nA0n)  (Yac/100<Y<=Y,o)
L*Laganpur =IN(A 1t A2 )/ (A2iAon)  (X=YTYY)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]
(Y/dY)=166,97, Ay=1,0, Ay=0,1044, ¢=1,00
(Y/dY)g=148.27, A,=0,017, A4,~0,0058
(Y/dY} ¢=95,03 Y,=18 dY=0,12
L* u:493)3&:‘?‘1:0,12 %/dvu:&s
log(Y/dY)2,17, m,=0,13 - = = ~
4 application
range

xN=0,2  xw=5
CED11-7A
CEDII-7N

L*/L* LABJNDu1 relative standard lightnessL*/L*

LHIL* Yoc=L*w - nc=100,

L*LaganDu1 =IN(A 1n+A2Y)(A2rAon) - (Yad 100<Y<=Yyo)
L aganpu1 =IN(A 1ntA2) (A2iAon) - (X=YTYy)
L* (3,6)=219L* ,(18)=498 L* (90)=776
L*g¢/L*=1,55, Ay=1,0, A,=0,1044, ¢=1,00
L* 1g/L*\=1,00, Ap=0,017, A4,~0,0058
L*3 gL* =0,43,1%,=498,34 =18

L*/L* =1, m;=0,79

application

1
1
. range

=1
Xw=5

CED11-2A

log(AY/AY,) LABJINDu1 relative
tristimulus value difference

INUNS VLS VAl 5o
L*Laganpu1 =IN(A1n+ A2 Y)(A2rAon) - (Yad 100<Y<=Yyo)
L1 aganpu1 =IN(A 1ntA20) (A2iAon) - (X=YTYy)
dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=1,0, Ay=0,1044, ¢=1,00
dYyg/dY,=1,00, A=0,017, A,=0,0058
dYs,gdY,=0,31 Y, =18, dY=0,12 P
y

log[(dY)(dY)y] =
application
1 nge
%=1

CED11-4A
log [(AY/Y) | (AYIY),] LABJINDu1 relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100,

nc’
L*Laganpu1 =IN(A 1n+A2Y)(A2rAon) - (Yo 100<Y<=Yyo)
L aganpu1 =IN(A 1nt A2 ) (A2uAon) - (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(@Y/Y)o(dY/Y)=0,88, Ay=1,0, Ay, =0,1044, ¢=1,00
(dY/Y)g/(dY/Y)=.00, A=0,017, £5,=0,0058
@YYy g(dY/YV)=1,28 Y, =18, dY=0,12

a
log[(dY/YY(dY/Y)]=0, m=-0,13 1 o
L* =498 dY,=0,12, dY,/Y,=0,0067, ?g’npg','ga""”
%=1
XNn=0,2 Xw=5

CED11-6A

log [(Y/AY) / (YIAY),]
Co/Cry=(YIA)(YIDY),

LABJNDu1 relative
tistimulus value contrast
Ync=L* w nc=100.,
L*Laganpu =IN(A1n+ A2 ) (A2rAon) - (Yad100<Y<=Yyo)
L1 aganpu1 =IN(A 1ntA2 ) (A2uAon) - (X=YTYy)
(YIAYY(YIAY), =[x/ (A A2 (A A2
(Y/dYyg/(YIdY)=1,12, Ay=1,0, Ap,=0,1044, ¢=1,00
(Y/dY)g/(Y/dY)=1,00, A =0,017, A,=0,0058
(Y/dY} ¢(Y/dY)=0,64 Y,=18 dY=0,12
log[(Y/dY)(Y/dY)J=0, m=0,13 _ _ _ _

application

%=1
XNn=0,2 Xw=5

CED11-8A

TUB-test chart CED1; LABINDuUI*(Y) & L*(Y), Ynh=(Y&L*)wne x=1,00, with more data
Absolute and relative lightness, sensitivity and contragt=2A5, A1n=0,017, A,=0,0058, A,=0,10
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